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Using rules

20,28
36, 108

1
14, 144 or cquivalent

‘Additional guidance

1 First neww term for each sequence correct,
with second terms all incomect or omitted
Mark a5.0,0, 1

Indicates No and gives a correct explanation

The most common correct explanations:

Show that the rule docs not work for the
third term

y
‘= It doesnc work for the second two
numbers, 22 — § = 14 not 18
= Ifit was subtract 8, the last number
would be 14

. k22—

State what the correct rule could be

®
‘o It should be divide by 2, then add 7
& The rule s add 14 then halve it
= You take away half as much each time

/ Minimally acceptable explanation

£
“2oge14

+ When you take away §, it should be 14
* 18 should be 14

* The third number should be 14
c2_8s18

els22 -4

C1802is4

 Incomplete or incorrect explanation
@
* 18is wrong
* Tt should be 14
* It doesn't work for 22 and 18
* You subtract a different number the
second time
e8-22-14
2 g5

 Minimally acceptable explanation
t
“4247
« 16 take away 8, then take away 4
nd -4
* You halve what you subtract

X Incomplete or incorrect explanation

+ You subtract  diffrent number each
time

* You subtract 4

* The rule is subtract 4

+ Take away half
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Hexagon patterns

Correct response

Additional guidance

Shows the value 21 or 40, with no evidence of
an incorrect method or a method using
counting on for the value

or

Shows a correct method for both types of tile
with not more than one computational error
@

" 2041,20x2

" 20x341

or

Shows a correct expression for the total
number of hexagons, in which the terms in 1
have been collected together
@

“ et

PETERS

 For 2m or tm, incorrect notation
e, for 2m
< 6ln

X For tm, method shown uses counting on
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20,28
36, 108

[T pe—

Indicates No and gives 3 correct explanation
“The most common correct explanations:

‘Sthow tht the rule does not work for the
third term

e
‘= It docsn't work for the second two.
numbers, 22— § = 14 not 18
 Ifit was subtract 8, the Last number
would be 14

State what the correct rule could be.

@
‘= It should be divide by 2, then add 7
= The rule s add 14 then halve it
= You take away half as mach each time

 Minimally acceptable explanation
ey
“n 4
« When you take away , it should be 14
* 18 should be 14
« The third number should be 14
2518
224
“ 1802204

Incomplete or incorrect explanation

* 18 is wrong

* le should be 14

« It doesn't work for 22 and 18

* You subtract a different number the
second time.

es-2n-14

enlwars

/ Minimally acceptable explanation
EY
4207
s take away 8, then take away 4
—$and 4
You halve what you subtract

X Incomplete or incorrect explanation
£
* You subtract a dfferent number each
« You subtract 4

* The rule is subtract 4
* Take away half
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nth term

Correct response

Gives a correct expression
8

. ne2

PRIZSES

Gives a correct expression

a3

e 1)

1
Jone6)
(6ns6)42
o

'3

Gives a correct expression
L

. 100-6

. 250 -3)

. (5n=3)x2

Additional guidance
! Unsimplified expression or unconventional
notation
eg, for part (a)
“axne2

a2
Condone

X Necessary brackets omitted
eg, for part (b)

Coneb642
eg, for part (¢)
*2x50-3
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T8 veston i
Number line
|E=mEE
2 Correct response. Additional guidance
2m | Gives all three correct values in the correct
positons, ic
1
-2
-5
tm | Gives atleast two correct values in the correct | 1 For 1, folow throwgh
positions Accept s ther previous incorrect value - 3,
provided ther previous incorrect value < 3
eg. for 1m accept
!
=3 (error)
%
* 2 (error)
-1
-
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Tor 8 et
Rules
3
Correct response Additional guidance
1m| 11,14
tm| 23,47
im| 41,122 1 First mew term for each sequence correct
with second terms all incorrect or omitted
Mark 210,0,
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Triangular numbers

Additional guidance
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Number chains

Correct response Addtional guidance.
Gives the values 14 and 41 in the correct positions
Shows a comect rule. V' Minimally acceptable rule.
o9 e
o x3  Add the number 3 tmes
* Multiplyby 3 * Add on double itself
o Tiple © Double then add the number
* x3then+0 s the next power of 3
O
1 Rule embedded or shown in working

Accept provided a correct rule i shown explictl,

even f an mcorrect value for the next number i

the chan s shown on the answer e

g, accept

© 81 % 3seen

. d-nx
oot accept

BCRNY

. 81x248

% incomplete o incorrect rule
)

-3

. s

.
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ll Mark Correct response

2m
or
m

®

z

‘Shows or implies that the size of two steps s 4
e

.34

o
Shows o imphies that the size of one step is 2

The gaps are 2
342

Second number is -1
Fourth numberis 3
* 30588844

ceeeg

X Shows steps of unequal size

Count on
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Tile patterns

! Follow-through as their (a) + 2
Provided that their (3) s an algebraic expression
with two terms.
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T b Cten

,.

2m
or
m

Gives the values —40 and 130 in either order
Shows the value -40 or ~130 with the other value
incorect o omitted

or

Shows the value %0

Terms
Additional guidance

t For 1m, follow-through from an incorrect
value

Accept provided both values are negative and
their difference is 90
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Number lines




image1.jpg
rer 8 cuestion :
aRaTes Chains
71 Correct response Additional guidance
ala 1m | Gives both correct values correctly positioned,
ie 20 and 320
b|b 1m| Gives both correct values correctly positioned,
e 5 and 22 or equivalent





image2.jpg
Chains
Corret respone Addiional gudance
1 Gives boehcorect values corrctly posioned,
120 and 320
1 Givesbothcorec values correcty posioned,

e nd 24 o squivae
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[Fer 8 Questin]

Shapes on a grid

57es
[10]3 Comect response. ‘Additional guidance
ala im| 20
b o m 60 1 Follow through
Accep fllow through s thei 3) x 3,
provided heir (2) was not 5
ele m 4 1 Operation repeated
e
s
Condone

¢ More than one mumber given
5
“2x2
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ier & Question|

slace]s-7]e-9

Shapes on a grid

[10]3

Correct response.

Additional guidance

ala m| 20
b|b m| 60 ! Follow through
Accept follow through as their (a) x 3,
provided their (a) was not 5
c|e m| 4 t Operation repeated

g
x4
Condone

x More than one number given

s
“2x2
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Step sizes

Correct response

‘Additional guidance.

Y

/ Add 12 then add 5
 Fractions decimals o negatives

+ Operations omitted
Condone, provided the drctio
arrows, i shown, are correct
s

NN ) )
T %
1 At s et ot i
3 i
] Condone, provided the dircctions of any.
/\ armows, if shown, are correct
e
L4 B = add 10 add 10
£
: [y e————
..
ANV
SNV
A e sy
P
4 waler
BYS—

X Answer of =8
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Hexagon patterns

Shows the value 21 or 40, with no evidence of
an incorrect method or a method using
counting on for the value

Shows a correct method for both types of tile
with not more than one computational error

e
®2041,20x2
s 20x31

Shows a correct expression for the total
number of hexagons, in which the terms in 1
have been collected together
g

RS

FETERS

Additional guidance

X For 2m or Im, incorrect notation
e, for 2m
6

X For tm, method shown uses counting on





